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1. Find lim 5 = —ocoor* i
z—2- T -8

1+ h)10 -1
2. Find lim S5 g0
h—0 h
22—z —2 49
Y 4y .
3. Let f(z) = T —2 , find the value of a that makes f continuous everywhere,
a , =2

5. Let f(5) =1, f'(5) = 6, g(5) = —3, ¢'(5) = 2, find the value of (f + 4¢)'(5) = 14
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1.

Find (a) ml;n; g(x)  (b) CEl;n; g(x) (o 9161_% g(x).

VA

4-..

3_._
L y=gW

10.

. . . 22
. Find the vertical asymptote of the function f(z) = 3
x —_—
I3 VO+h—3
. Find (a) lim £—3 b) lIim —.
()x—>3$—3 ()h—>0 h
atsin | = x #0 .
. Show that the function f(z) = x) is continuous at 0.
0 ,x =20
Show that there is a solution of the equation 2% + 22 —  — 5 = () between 0 and 2.

Show that (a) f(:c) = ‘:C‘ is continuous at z = 0.
(b) f(z) = |x| is not differentiable at = = 0.

. Find the derivatives of the function f (x) using the definition of the derivative.

@ f(z)=2*  © f(z) ==

. Leth(z) = 22g(x),and f(z) = giil?) if g(3) = 5, ¢’'(3) = 2. Find (a) 1'(3)

JT

. Let f(z) = ——3 and g(7) = (32 — 52)(2x + 3). Find f'(x) and ¢ ().
Ifalji_)rr% % = 5, find (a) }:Ln% f(x) () 31331 j(_x) .

() f'(3)
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1 | (a)3, (b)1, (c)lim g(z) does not exist.

r—2

2 x = 3 1s a vertical asymptote

1 1

3 — 2, (b)=

@-5 ()
4 | ez
5| v
6 | v

(* P »’; xq:‘*ﬁ;;‘; - I P ) ‘jr\'/"\)

8 | (a)h'(3) =48, (b)f'(3)= é
11’71/2 T — _1,1/2
9 f/(gj) — (x - ;))2 ,g’(x) 1827 — 9% — 15

10 | (a)lim f(z) =0, (b)lim L& _¢

z—1
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